ZH: (2000) AtBIOHERH]  2H:(2300) ALSl 2 EHI & (2320) g E A Mg (2321) g Z & 2te| Mg : (120) 2 & A FHI (=3[ dE]

o = S R im)
G & = 0 x
.28 HE NME = of & % = A
2000 [= 50,345,047 & 28,169,995 X 0 2 0]
NS BTG 79,184,381 69,248,421 9,935,960| [JI 275,880 = 393,459 1 0 ]
2300 [Z 50,345,047 & 28,169,995 X 0 2 0]
AbBI 2 | 79,184,381 69,248,421 9,935,960| [JI 275,880 £ 393,459 1 0 ]
2320 [= 50,345,047 & 28,169,995 X 0 2 0]
CREERS 79,184,381 69,248,421 9,935,960| [JI 275,880 = 393,459 1 0 ]
2321 [Z 50,345,047 & 28,169,995 X 0 2 0]
GRS ERpel] 79,184,381 69,248,421 9,935,960| [JI 275,880 £ 393,459 1 0 ]
100
2 ALOf ot 104,300 108,350 4,050
120
ZAEAY| 104,300 108,350 4,050
201
e 2 | 48,600 50,750 A2,150
47,600 49,750 A2,150/01 Yt |
o Yut42H| = 10,900
o4y = 27,700
SEEL = 9,000
1,000 1,000 0|02 A2 HI
COHMNASARUNE 2 = 1,000
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X:(2000) AFSIJHEHI  2+:(2300) AbSl B & & (2320) O &4 & = Mgt (2321) 0 & 2 2t g| HIAIEE: (120) 2 AH X 2 ) EEMEEERCE]
L = S == S i}
O]l At o N = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
CHAE - 2IEDNS EIIBA 20,0002 x 2504 = 5,000
SO AXNASAIXING EIIE A 5,0008 x 600 = 3,000
SO AXNASAIXNG 2B A 300,000 x4E = 1,200
oMZUAMUNG &I A 30,0002 x 50% = 1,500
200 [2 50,345,047 & 28,065,695 X 0 0]
AHS Ol A 79,080,081 69, 140,071 9,940,010| [2I 275,880 = 393,459 1 0 ]
210 [2 50,345,047 & 25,222,724 X 0 2 0]
YBXAY 75,843,651 66,163,907 9,679,744| [2I 275,880 = 0 0 ]
307
0I2H0| A 521,330 217,937 303,393
8,930 17,937 A9,007|02 DIZHAAE X
SKCHANRAESHE 2 = 8,930
(21 8,930
512,400 200,000 312,400(05 QI2tQIEI2
oEHERIFHHRY = 250,000
(=) 125,000
(%) 125,000
oHSNAIELNS 160,00024%x1,640% = 262,400
(=) 131,200
(%) 131,200




Z:(2000) AFBIJHEEHI  2:(2300) bS] & EHHI 8t (2320) 04 & & = AIgt: (2321) A8 B = 2 HIAIE: (210) 8 R AL EENESER-ED
2 = S IS R == S )
ol &b oM At = J| =
.2 E NS AAE =2 of  Ab oM = A
308
XRSHS 69,662,275 58,066,940 11,595,335
ol &
69,662,275 58,066,940 11,595,335/01 RIXISHIAE XS
ocBRAL2Y 68,302, 151
(=) 45,534,766
(%) 22,767,385
- AIESAFRF Q1 2A44| 41,037,415,000& x 75% = 30,778,062
(2) 20,518,707
(%) 10,259,355
COIE AL W7
1,118,400, 0002 x75% = 838,800
(2) 559,200
(=) 279,600
SOHEESAE 28|
799,200,000 x 75% = 599,400
(2) 399,600
(=) 199,800
HASE gde0t 2822 1L
31,073,846,0002 x75% = 23,305,385
(2) 15,536,923
(=) 7,768,462
- IS0 RAESR 12,669,888,000&4x75% = 9,502,416




X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 8t:(2320) O &4 & =4 Mgt (2321) 0 & 2 2t g| HIMIE: (210) B EAFY EENEEEE)
ni; = b I R = m
— of Ao N Hl - A = ol %
N ERLE o of & o | = oA 2 - = -
(2) 6,334,944
() 3,167,472
ZOHOt AR 2,208,480,0002 x 75% = 1,656,360
(=) 1,104,240
(%) 552,120
STHEOIA 2ABS 2,162,304,0002 x75% = 1,621,728
(2) 1,081,152
() 540,576
H21283H136629 (1HA)
198,616,000 x75% 148,962
(2) 99,308
() 49,654
oA ZAY SO0 HHAEA 29
721,688,0002 x 75% 541,266
(2) 360,844
(%) 180, 422
oIJIA - A=Al 2] XA (231Y)

78,616,000 x75% 58,962
(2) 39,308
() 19,654

HE20 SAL 0S(439)
17,200,000€ x 75% 12,900
(=) 8,600
(%) 4,300




Z:(2000) AbBIOHEEHI 24 (2300) bS] 2 A 8t:(2320) 01 & & = M8t (2321) 0F & & =4 2t HIAIE : (210) 2 E AL EENEGR-E
L = S == S i}
of Ab o A = Il =
.2 E NS AAE =2 o & % = A 2
CHFEATNNNESAIE 29
202,843,000 x85% = 172,417
(2) 141,990
(%) 30,427
oSNNI XIHAILE 29
186,667,000 x 85% = 158,667
(2) 130,667
(%) 28,000
CIHELAMAN NHIIZALY = 98,250
(1) 98,250
SIS ZATNI X2 SALS = 128,840
(1) 128,840
oA OHOHTIGH Xt =& S AL = 31,860
(1) 31,860
COAEXNIAZSAK BSNK (6IHEH = 8,000
(1) 8,000
403
XRSHS 5,660,046 7,879,030 ~A2,218,984
X=01A
5,660,046 7.879,030| ~A2,218,984|01 KXISHH=2EX
oEFAE JIs2Y (19404)
7.500,728,0002 x 75% = 5,625,546
(2) 3,750,364
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X:(2000) AFSIJHEHI  2+:(2300) AbSl B & 8t:(2320) O &4 & =4 Mgt (2321) 0 & 2 2t g| HIAIEE: (220) Kb ALES EEMEEERCE]
L = S == S i}
O]l At o A = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
210,000 0 210,000(05 QI2tSIEF2
ozo|eMEsR 2 = 210,000
308
XSS 1,824,430 1,614,164 210,266
ol
1,824,430 1,614,164 210,266 |01 KXISHHIAEE2
cHAAMIIDEIZOY 2 = 16,000
OO AQIEINLHE 29 (3HA)
147,039,500 x 3904 = 441,119
(%) 67,660
(2) 373,459
SO AFIIEHAL 2AXK
2,000,0002 x 8IHAlIZ = 16,000
(2) 16,000
CQIERAE HEHASHROIEERZ IHA2X
20,0002 x 2,100% x 12=” x 30% = 151,200
OoMASE YROIZ2HAIH]
5002 x 16,4829 x 2502 x 30% = 618,075
o XOHOIEE R 40,080
SESAISS 50,0002 x 1549 x 128 x 20% = 18,480
EFANLE2H
300,000 x 300HA x 128 x 20% = 21,600




Z}:(2000) AHBIJHEHI  2H: (2300) AbEI 2 B U 5} (2320) 0 & H = Mg (2321) 0 & = Bt NIAI: (220) RERIAFES EENELRE)
L = S == S i}
of &b o A 2 ol =
.8 NE . MAE = Of & % = oA
CZYHOZSAL DR
1,000,00080 x 2400H2 x 20% = 48,000
cSELE|AL 2K
300,0008 x 5194 x 122 x 20% = 36,720
oM ES AR A
30,0008 x 250 x 302 x 20% = 45,000
CEBS|NAIXSMEH X
50,0008 x 3,206 x 128 x 20% = 384,720
of - JIFEANEL 2Y
10,504,0008 x 34 x  50% = 15,756
SO SXAILBAR M &HI 11,760
- 3402t 100,000 x 9% x 128 x 50% = 5,400
- 3~54 130,00084 x 2% x 128 x 50% = 1,560
- 50 4 160,000 x 5% x 128 x 50% = 4,800
A& & 79,184,381) 69,248,421 9,935,960
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